
KM rzeki Przekrój Odległość [m]
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Wykop Nasyp Wykop Nasyp

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

Rów R2 – D23
1 0+095,6 0,57 0,00
2 0+096 1 – 1 0,57 0,02 0,57 0,01 0,4 0,2 0,0 0,3 0,0 0,0 0,0 - 0,2
3 0+119 2 – 2 1,21 0,00 0,89 0,01 23,0 20,5 2,0 22,5 0,2 0,0 0,3 - 22,3
4 0+140 3 – 3 0,50 0,62 0,86 0,31 21,0 18,0 1,8 19,8 6,5 0,7 7,2 - 12,6
5 0+161 4 – 4 0,67 0,36 0,59 0,49 21,0 12,3 1,2 13,5 10,3 1,0 11,3 - 2,2
6 0+163,6 - 0,67 0,00 0,67 0,18 2,6 1,7 0,2 1,9 0,5 0,0 0,5 - 1,4

Suma 57,9 19,3 0,0 38,7
Globalnie - 38,7
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Powierzchnia przekroju [m2] Śred. pow przekroju [m2]
Objętość 

wykopu [m3] 

Rezerwa 
wykopu 10% 

[m3]

Objętość 
wykopu 

ogółem [m3]

Objętość 
nasypu [m3]

Rezerwa 
nasypu 10% 

[m3]

Objętość 
nasypu 

ogółem [m3]

Niedobór 
objętości [m3]

Nadmiar 
objętości [m3]


